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Q1 Q2 Q3 Q4 Q5 

4 2 1 2 4 

Q6 Q7 Q8 Q9 Q10 

3 3 3 3 2 

Q11 Q12 Q13 Q14 Q15 

1 2 4 2 3 

 
Q16) 260 mℓ Q17)  

1200 mℓ 
Q18)  8.75 Q19) Mall Q20) 9 

Q21) 9.54, 

9
9
20

 , 9.405, 

9
54

1000
  

Q22)  
6 bags of 
pens 

Q23) 37.08ℓ  Q24)  
60 cookies 

Q25) 4 

Q26) 52 cm Q27)  
a) CD ∟ DE 
b) AB // HG 
 

Q28)  

 

Q29) $140 Q30) 2700¢ 

 
Paper 2 
Q1) 5u  495 
 1u  495 ÷ 5 = 99 
 2u  99 x 2  $198 

Q2) ∠DEF = 125O 
Q3) a) False 
 b) False 
Q4) 26 ÷ 7 = 3 R 5  3 packets of biscuits 

Q5) Chair  
2
5
  x 420 = 168 

 168 + 420 = $588 

Q6) Total (70)  
4
7
 (green) + 

3
7
  (red + blue) 

 
3
7
  x 

70
1

  = 30 

 30 + 16 = 46 
 46 ÷ 2 = 23 red marbles 
 
 



Q7) Multiple of 6  : 42, 48, 54, 60, 66, 72, 78, 84 
 Plus 2  : 44, 50, 56, 62, 68, 74, 80, 86 
 Multiple of 5 : 40, 45, 50, 55, 60, 65, 70, 75, 80, 85 
 Plus 3  : 43, 48, 53, 58, 63, 68, 73, 78, 83, 88 
 Ans: 68 members 

Q8) Total  
3
7
 (sold) + 

4
7
 (R) 

 
4
7
 (R)  

5
8
 (brother) + 

3
8
 (left  780) 

 
4
7
  x 

3
8
  = 

3
14

  

 3u  780 
 1u  780 ÷ 3 = 260 
 14u  260 x 14 = 3640 sweets 
Q9) 5 books  17.50 + 21.75 
 1 book  39.25 ÷ 5 = 7.85 
 4 books  7.85 x 4 = 31.40 
 Susan  31.40 + 17.50 = $48.90 
Q10) Area of square = 45 x 45 = 2025 
 8 x 3 = 24 
 2025 x 24 = 48 600 cm2 
Q11) a) 185 – 45 = 140 
  140 ÷ 2 = 70 
  70 – 45 = 25 marbles 
 b) 185 + 45 = 230 
  230 + (25 x 2) = 230 + 50 = 280 marbles 
Q12) 540 – 210 = 330 
 6u  330 
 1u  330 ÷ 6 = 55 
 210 – 55  155 g 
Q13) Extra (red)  1.3 x 8 = 10.4 
 65.9 – 10.4 = 55.5 
 55.5 ÷ 3.7 = 15 (1 set) 
 Red  15 + 8  23 pieces 
Q14) 7 x 142 = 994 
 7 + 2 = 9 
 9 x 144 = 1296 
 1296 – 994 = 302 
 302 – 34 = 268 
 268 ÷ 2 = 134 
 100 cm = 1 m 
 134 cm = 1.34m 
 
 
 
 



Q15) 480 – 95 = 385 
 11u  385 
 1u  385 ÷ 11 = 35 
 35 x 5 = 175 
 Diff  175 + 95 = $270 
Q16) a) 32 x 0.20 = 6.40 
  6.40 + 28.40 = 34.80 
  0.50 -  0.20 = 0.30 
  34.80 ÷ 0.330 = 116 
  116 + 32 = 148 
 b) 116 x 0.50 = 58 
  58 + 29.60 = 87.60 
  89.20 – 87.60 = $1.60 
Q17) 4u  34 + 14 = 48 
 1u  48 ÷ 4 = 12 
 7u  12 x 7 = 84 
 4p  84 + 6 = 90 
 1p  90 ÷ 4 = 22.50 
 5p  22.50 x 5 = $112.50    
 

End 
 
 

  


